Math 220
2.1: Matrix Operations
Questions for flipped class
Key terms:
Transpose


Commutative property of multiplication




For Everyone

(2.1.1) 
Compute A+2B, 3C-E, CB, and EB.  If an expression is undefined, explain why
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 (2.1.3)
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How much skills practice do you need?

(2.1.2) 
[image: A math problem with black text

Description automatically generated]




 (2.1.4)
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(2.1.5)  
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Thinking about Theory

(2.1.6)
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(2.1.1 solution)
· 

· 3C-E is undefined because the dimensions are not the same in C and E
· 

· EB is undefined because the dimensions are mismatched


(2.1.2 solution)
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(2.1.3 solution)

· 

 and  but B and C aren’t equal.

(2.1.4 solution)
· 
Notice that column 2 is (-2)*(col 1).  So let 

(2.1.5 solution)
[image: ]

 (2.1.6 solution)
[image: ]
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(T/F) If A and B are 2 x 2 with columns a;, &, and by by,
respectively, then AB = [ajb;  asby).

(T/F)If Aand B are 3x3and B=[b, by by, then
AB = [Ab) + Ab, + Aby]

(T/F) Each column of AB is a linear combination of the
columns of B using weights from the corresponding column
of A

(T/F) The second row of AB is the second row of A multi-
plied on the right by B.

(T/F) AB + AC = A(B + C)
(T/F) AT + BT = (A + B)T
(T/F) (AB)C = (AC)B
(T/F) (AB)" = AT BT
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(T/F) If A and B are 2 x 2 with columns a;. ax, and by bs,

respectively, then AB = [aby  ayhy). 15. Sce the definition of AB. F see defn. of AB

(T/F)If Aand B are 3x3and B=[b; by b, then AB must be 3x3, the formula

AB = [Ab; + Ab; + Aby]. implies 3x1. "+" should be

(T/F) Each column of AB is a linear combination of the _;: The roles of A and B should be reversed
columns of B using weights from the corresponding column in the 2ud part of the statement.

of A. 17. See the box after Example 3.

(T/F) The second row of AB is the second row of A multi- See bos after Ex. 6
plied on the right by B. T

(T/F) AB 4+ AC = A(B + C) j_l!. Read Theorem 2(b) from right to left.
(T/F) AT + BT = (A+ B)” | True, theorem 3(b) read R > L
@R (4B)C = (4)B T 2. Thelefi-to-right order of B and C cannot be changed, in general.

(V) (AB)T = ATBT = See Theorem 3(d)
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Verify that AB = AC and yet B # C.
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K if any, will make 4B = BA?

]. What value(s) of
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] Construct a 2 x 2 matrix B such that

. Use two different nonzero columns
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